Level Benjamin — Class 5 & 6

3 point problems

1. Basil wants to paint the word KANGAROQO. He paints one letter each day. He starts
on Wednesday. On what day will he paint the last letter?

Basil muén son dong chit KANGAROO. Méi ngay ban dy son dwoc mét chi cdi. Biét
rang Basil bdt dau vao thir Tu. Hoi chit cdi cudi cung sé dwoc son vao ngay ndo?

(A) Monday / Thur hai (B) Tuesday / Thir ba (C) Wednesday/ Thur
tw
(D) Thursday / Thir nam (E) Friday / Thi sau

2. A motorcyclist rode a distance of 28 km in 30 minutes at a constant speed. At what
speed did he drive, in km per hour?

Mot nguwoi di quang dwong 28 km bang xe mdy trong 30 phiit véi toc do khéng doi. Hoi
nguoi dé da ldi xe véi toc do bao nhiéu km/h?

(A) 28 (B) 36 (C) 56 (D) 58 (E) 62

3. A square of paper is cut into two pieces using a single straight cut.

Mot to gidy hinh vuéng duwoc cdt thanh hai manh bang mét dwong cdt thang.

Which of the following cannot be the shape of either piece?

Hinh ndo sau day khéng thé la hinh dang ciia mét trong hai manh?

(A) a square / hinh vuong (B) a rectangle / hinh chir nhat
(C) a right-angled triangle / tam giac vuéng (D) a pentagon / ngii giac

(E) an isosceles triangle / tam gidc vuong



4. Hamster Fridolin sets out for the Land of Milk and Honey. His way to the legendary
Land passes through a system of tunnels. There are 16 pumpkin seeds spread through
the tunnels, as shown in the picture.

Hamster Fridolin dang di t6i Vimg ddt Sita va Mdt ong. Trén dwong di Fridolin phdi
vieot qua mét hé thong dwong ham trong dé c6 16 hat bi ngé nhw trong hinh.

Entrance%y

oo [T

D00

o — =

[

What is the highest number of pumpkin seeds Fridolin can collect if he is not allowed
to visit any junction more than once?

Néu moi giao 1o chi dwoc di qua mot lan thi s6 hat nhiéu nhat ma Fridolin ¢é thé nhdt
duwoc la bao nhieu?

(A) 12 (B) 13 (C) 14 (D) 15 (E) 16

5. In Crazytown, all the houses on the right side of Number Street have odd numbers.
However, Crazytowners don't use numbers containing the digit 3, though they use
every other number. The first house on the right side of the street is numbered 1, and
the houses are numbered in increasing order. What is the number of the fifteenth house
on the right side of the street?

O Crazytown, tat ca nhitng ngéi nha bén phai dwong Number déu dwoc danh sé Ié.
Biét rang, Crazytowners khéng siv dung cdc s6 c6 chira chit sé 3. Ngdi nha dau tién
bén phdi dwong danh s6 1 va cdc ngdéi nha dwoc danh sé theo thir tw ting dan. Hoi

ngoi nha thir muwoi lam o bén phai dwong dwwoc danh so may?

(A) 29 (B) 41 (C) 43 (D) 45 (E) 47



6. The picture shows a partially built cuboid.
Trong hinh la mot hinh hop chit nhdt dang dwoc ghép do.

Which of the following pieces will complete the cuboid?
Manh ghép nao sau ddy sé hoan thanh hinh hop chir nhat do?

(4) (B) (€) (D) é (E) ;];

7. We pour 1000 litres of water into the top of the pipework shown in the picture.

C6 1000 lit nuée dwoe do vao dwong dng nhu trong hinh.
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Every time a pipe forks, the water splits into two equal parts. How many litres of water

will reach container Y?

Mbi khi gdp mét dwong ré, dong chdy sé dwoc chia thanh hai phan bang nhau. Hoi c6

bao nhiéu lit nuoc chay vao thung Y?



(A) 500 (B) 660 (C) 666.67 (D) 750 (E) 800

8. The date 01-03-05 (1 March 2005) consists of three consecutive odd numbers in
increasing order. This is the first date with this feature in the 21st century. Including
01-03-05, how many dates in the 21* century, when expressed in the form dd-mm-yy,
have this feature?

Ngay 01-03-05 (01/03/2005) gom ba sé 1é lién tiép theo thir tw ting dan. Pdy la ngay
ddu tién trong thé ky 21 ¢é ddc diém nay. Hoi ¢6 bao nhiéu ngay trong thé ky 21 khi thé
hién dwdi dang dd-mm-yy c6 déic diém nay (tinh cd 01-03-05)?

(A)5 (B) 6 (C) 16 (D) 13 (E) 8

9. The picture shows four cardboard pieces.

Trong hinh la 4 manh bia cung.
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All four pieces are put together without gaps or overlaps to form various shapes.
Which of the following shapes cannot be made in this way?

4 mdnh nay dwoc ghép lai sao cho khéng c6 khodng trong va khéng chong chéo lén
nhau dé tao thanh nhiéu hinh dang khac nhau. Hinh nao khong thé tao duwoc theo cdch
nay?
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10. When Liza the cat just lazes around, she drinks 60 ml of milk per day. But each day
that she catches mice, she drinks a third more milk. In the last two weeks she has been
catching mice every other day. How much milk did she drink in the last two weeks?

Moi ngay lwoi nhéc khéng bdt chudt méo Liza udng 60 ml sita. Moi ngay c6 bdt chudt,
Liza uong thém mot phan ba sé sita nita. Trong hai tudn, Liza bdt chudt hai ngay mot
lan. Hoi Liza dd uéng bao nhiéu sita trong hai tudn d6?

(A) 840 ml (B) 980 ml (C) 1050 ml
(D) 1120 ml (E) 1960 ml
4 point problems

11. Andrew wrote the letters of the word KANGAROO i1n cells. He can write the first
letter in any cell he wants. He writes every subsequent letter in a cell that has at least
one point in common with the cell in which the previous letter was written. Which of
the tables can Andrew not create in this way?

Andrew viét cac chir cdi cua tw KANGAROQ vao cac o trong bang. Biét rang chir cai
ddu tién co thé dién vao bat ky 6 nao, cdc chir cdi tiép theo phai dién vao 6 co it nhdt
mot diém chung voi o viét chir cdi trudc no. Bang nao sau day khong thé dwoc tao ra?
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12. All 4-digit integers with the same digits as the number 2011 are listed in increasing
order (so each number in the list has two 1s, one 0 and one 2). What is the difference
between the two numbers appearing on either side of 2011 in this list?



Tét ca cac s6 nguyén duwoc tao tir 4 chir s6 cua s6 2011 dwoc liét ké theo thir tur tang
dan (méi sé trong d6 c6 hai chir sé 1, mét chit s6 0 va mot chir sé 2). Chénh léch giiva
$6 ditng triede va sé dieng sau s6 2011 trong danh séch nay la bao nhiéu?

(A) 890 (B) 891 (C) 900 (D) 909 (E) 990

13. Four of the numbers on the left are moved into the cells on the right so that the
addition is correct.

Bon so o bén trai duoc lya chon dién vao cdc o bén phai dé co phép tinh dung.

171 [167] [
+[ ]
N
(49 [96] ]
Which number remains on the left?
So khong dwoc chon la $6 ndo?
(A) 17 (B) 30 (C) 49 (D) 96 (E) 167

14. Nina used 36 identical cubes to build a fence of cubes around a square region. Part
of her fence is shown in the picture.

Nina sir dung 36 khoi lap phwong giong nhau dé ghép thanh hang rao xung quanh mot
khu viee hinh vudng. Mét phan hang rao dwgc vé trong hinh.

How many more cubes will Nina need in order to fill the region inside her fence?
Hoi can bao nhiéu khéi lap phwong nita dé ldp day khu viec bén trong?

(A) 36 (B) 49 (C) 64 (D) 81 (E) 100
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15. Some square floors have been covered with white and grey tiles. Floors using 4 and
9 grey tiles are shown in the picture.

Mot s6 san nha hinh vuong duwoc lat gach bang cac vién gach mau trang va xam. Trong
hinh la san co6 4 va san co 9 vién gach mau xam.

Each floor has a grey tile in every corner and all the tiles around a grey tile are white.
How many white tiles are needed altogether for a floor using 25 grey tiles?

Biet rang 4 goc san nha lat bang vién gach mau xam va tat ca cdc 6 xung quanh 6 mau
xam deéu co mau trang. Hoi can bao nhiéu vién gach trang dé lat san nha co 25 vién
gach mau xam?

(A) 25 (B) 39 (C) 45 (D) 56 (E) 72

16. Paul wanted to multiply an integer by 301, but he forgot the zero and multiplied by
31 instead. The result he got was 372. (He did manage to multiply by 31 correctly!)
What result was he supposed to get?

Paul muén nhéan mét sé nguyén véi 301, nhung lic nhdn da quén mat so 0 nén da nhdn
6 d6 vé6i 31 va dwoc két qud la 372. Hoi néu nhan ding thi két qud gi?

(A) 3010 (B) 3612 (C) 3702 (D) 3720 (E) 30
720

17. In three games FC Barcelona scored three goals and let one goal in. In these three
games, the club won one game, drew one game and lost one game. What was the score
in the game FC Barcelona won?

Trong ba trdn, doi Barcelona ghi ba ban, dé lot ludi mot ban va da thcfng mot tran, hoa
mot trdan va thua mot tran. Hoi tran ma doi Barcelona co ty 6 la bao nhiéu?



(A) 2-0 (B) 3-0 (C) 1-0 (D) 4-1 (E) 0-1

18. We are given three points on a sheet of paper. The points are the vertices of a
triangle. We want to draw another point so that the four points are the vertices of a
parallelogram. How many possibilities are there for the fourth point?

C6 3 diém trén mot to gidy la 3 dinh ciia mét tam gidc. C6 bao nhiéu cach chon 1 diém
khéc sao cho bon diém dé la cac dinh cua hinh binh hanh?

(A)1 (B) 2 (©)3 (D) 4

(E) It depends on the initial triangle / phu thudc vao tam gidc ban dau

19. The picture shows eight marked points connected by lines.
Trong hinh la 8 diém dwoc noi véi nhau bang cdc doan thdng.

1

3

One of the numbers 1, 2, 3 or 4 is to be written at each of the marked points so that the
two numbers at the ends of every line are different. Three numbers have already been
written. How many times does 4 appear in the completed picture?

Viét cdc sé 1, 2, 3 hodc 4 vao tng diém da danh dau sao cho hai sé & hai dau doan
thang khdc nhau. Cé 3 s6 da dwoc viét. Hoi sau khi viét xong thi sé 4 xudt hién bao
nhiéu lan?

(A)1 (B) 2 (©)3 (D) 4 (E)5



20. Using only pieces like the one in the picture, Daniel wants to make a complete
square without gaps or overlaps.

Chi sir dung nhitng manh nhw trong hinh, Daniel muén tao thanh mét hinh vuéng hoan
chinh khéng cé khodng trong hay chong chéo 1én nhau.

What is the smallest number of pieces he can use?
S6 mdnh it nhat c6 thé sir dung la bao nhiéu?

(A) 8 (B) 10 (C) 12 (D) 16 (E) 20

5 point problems

21. There are 10 pupils in a dance class. Their teacher has 80 jelly beans. After she
gives the same number of jelly beans to each of the girls in the class, there are 3 jelly
beans left over. How many boys are there in the class?

Mot lop khiéu vii co 10 hoc sinh. Co gido co 80 vién keo. Néu ¢é phdat cho moi ban nir
trong 1op mot 56 keo nhw nhau thi con thira 3 vién keo. Hoi [6p co bao nhiéu ban nam?

(A)1 (B)2 ©)3 (D)5 (E) 6

22. A cat has 7 differently-coloured kittens: white; black; red; black & white; red &
white; black & red; and white, black & red. How many ways are there to put 4 kittens
in a basket so that every pair in the basket has at least one colour in common?

Co 7 chu meo voi cac mau sac khac nhau: trang, den, do, den-trang, do-trang, den-do,
va trang-den-do. Co bao nhiéu cach xép 4 chu meo vao gio sao cho moi cap trong gio
co it nhat mot mau giong nhau?

(A)1 (B)3 (€) 4 (D)6 (E) 7



23. The picture shows four identical right-angled triangles inside a rectangle.

C6 bon hinh tam gidc vudng giong nhau bén trong mét hinh chi nhdt nhie hinh vé.
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What is the total area of all four triangles?
Téng dién tich ciia bon hinh tam gidc la bao nhiéu?

(A) 46cm? (B) 52cm? (C) 54cm? (D) 56cm? (E) 64cm?

24. Alex says Pelle is lying. Pelle says Mark is lying. Mark says Pelle is lying. Tony
says Alex is lying. How many of these four boys are lying?

Alex néi Pelle dang néi déi. Pelle n6i Mark dang néi doi. Mark néi Pelle dang néi déi.
Tony néi Alex dang néi doi. Trong sé bon cdu bé ndy cé bao nhiéu ban dang néi doi?

(A)0 (B)1 (©)2 (D)3 (E) 4



25. Lina has fixed two shapes on a 5 % 5 board, as shown in the picture.

Lina gan c6 dinh hai hinh trén mét tam bang 5 x 5 nhw trong hinh.

Which of the following 5 shapes should she place on the empty part of the board so
that none of the remaining 4 shapes will fit in the empty space that is left? (The shapes
may be rotated or turned over, but can only be placed so that they cover complete
squares.)

Can dat hinh nao trong 5 hinh sau ddy vao phan trong ciia bang dé khéng cé hinh nao
trong 4 hinh con lai lot vao phcfn tréng con lai? (Cac hinh co thé dwoc xoay hodac lat
lai, nhwng chi ¢é thé dwoc ddt sao cho chiing bao phii cdc hinh vudng hodn chinh.)

(A) (B) (D) (E)

(€)




26. The picture shows three identical dice stacked on top of each other.
Trong hinh la ba vién xiic xdc giong nhau xép chong 1én nhau.

X

For each die, the total number of pips on every pair of opposite faces is 7. The stack
was made so that the sum of the pips on every pair of faces that meet is 5. How many
pips are on the face marked X?

Biét tong cac cham trén hai mat doi dién cua mot con xuc xac la 7, cdac vién xuc xdc
dwoc xép sao cho tong so cham trén hai mat tiép xuc la 5. Hoi co bao nhiéu cham trén
mat danh dau X?

(A)2 (B)3 (C) 4 (D)5 (E) 6

27. 1 want to draw four circles on the blackboard so that every pair of circles has
exactly one common point. What is the greatest number of points that can belong to
more than one circle?

Toi muon vé bon dwong tron lén bang sao cho moi cap dwong tron déu co dung mot
diém chung. So diém [on nhat nam trén nhiéu hon mot duwong tron la bao nhiéu?

(A)1 (B) 4 ©)5 (D)6 (E)8

28. In a particular month there were 5 Saturdays and 5 Sundays, but only 4 Fridays and
4 Mondays. In the next month there were

Trong mot thang co 5 ngay thir bay va 5 ngay chu nhdt nhung chi co 4 ngay thuw sau va
4 ngay thir hai. Théang tiép theo dé co:

(A) 5 Wednesdays / 5 ngay thir Tw (B) 5 Thursdays / 5 ngay thir Nam
(C) 5 Fridays / 5 ngay thw Sau (D) 5 Saturdays / 5 ngay thiwr Bay



(E) 5 Sundays / 5 ngay Chu nhdt

29. You are given four positive numbers a, b, ¢ and d in ascending order of size. You
are asked to increase one of them by 1 in such a way that the product of the four
resulting numbers is as small as possible. Which number should you increase?

C6 bon sé dwong a, b, ¢ va d theo thir tir ting dan. Ban dwoc phép ting mét sé ching
lén 1 don vi sao cho tich ciia bon sé thu dwoc la nhé nhat. Nén tang $6 nao?

(A)a (B)b (C)c
(D)d (E) either b or ¢ / b hodc ¢

30. The digits of a positive five-digit number are 1, 2, 3, 4, 5 in some order. The first
digit of the number is divisible by 1, the first two digits (in order) form a number
divisible by 2, the first three digits (in order) form a number divisible by 3, the first
four digits (in order) form a number divisible by 4, and the whole number is divisible
by 5. How many such numbers are there?

Mot s6 cé nam chiv s6 dwoc tao thanh tir cac chit sé 1, 2, 3, 4, 5. Biét s6 dé cé chir s6
dau tién chia hét cho 1, hai chi s6 dau tao thanh sé chia hét cho 2, ba chir s6 dau tao
thanh sé chia hét cho 3, bon chiv sé dau tao thanh so chia hét cho 4 va s6 nguyén dé

chia hét cho 5. Cé bao nhiéu sé nhw viy?

(A) 0 (B) 1 (C)2 (D) 5 (E) 10



